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Q1)Which of the following is dangling 
reference ? 
(i) Accessing the storage that is already 

disposed at users request. 
(ii) Accessing the storage that is already 

disposed at the request of processor.
(iii) Accessing the variable that is declared 

but not initialized.
(iv) ALL
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Q2)In object oriented programming for 
references and values, which of the 
following statements are true : 
(i) If variables are references, then 

every object must be created 
explicitly. 

(ii) If variables are values, then object 
creation can happen implicitly as 
result

(iii) Both
(iv) None
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Q3)Using a constructor to specify the type 
conversion is convenient but has implications 
that can be undesirable in : 
(i) There can be no implicit conversion from a 

user defined type to basic type. 
(ii) It is not possible to specify a conversion from 

a new type to an old one without modifying 
the declaration for the old one.

(iii) It is not possible to have a constructor with a 
single argument without also having a 
conversion

(iv) ALL
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Q4) Which one of the following ensures 
proper cleanup of objects of the type?

(i) Destructor 
(ii) Delete 
(iii) Exception Handling 
(iv) Garbage Collection 

(A) (i) only (B) (i) and (ii) 
(C) (iii) only (D) (iv) only
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Q5) Binary region codes assigned to line end points 
according to relative position with respect to the 
clipping rectangle in the row order are :
(A) 1001, 1000, 0001, 1010, 0000, 0010, 0101, 0100, 

0110 
(B) 1001, 1000, 1010, 0001, 0000, 0010, 0101, 0100, 

0110 
(C) 1001, 1000, 0001, 1010, 0000, 0101, 0010, 0100, 

0110 
(D) 1001, 1000, 0001, 1010, 0000, 0010, 0100, 0101, 

0110
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Q6) Suppose you own a student table, the 
correct syntax for giving delete privileges to 
all users of the database with one SQL 
statement is : 
(A)Grant delete to all on student;
(B) Grant delete on student to all; 
(C) Grant delete to public on student; 
(D)Grant delete on student to public;
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Q7) Which of the following properties of a 
transaction are handled by Recovery 
Manager ? 
(i) Atomicity (ii) Durability 
(ii) Isolation (iv) Consistency 

(A)(i) and (ii) (B) (i), (ii) and (iii) 
C) (i), (ii) and (iv) (D) (i), (ii), (iii) and (iv)
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Q8) A statistical method used 
to make numerical predictions 
is ................. . 
(A) Regression 
(B) Support vector machine 
(C) Hidden Markov model 
(D) Link analysis
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Q9) Acronym for Hadoop YARN is 
........................ .
(A)Yet Another Repository Navigator 
(B) Yet Another Research Negotiator 
(C) Yet Another Register Negotiator
(D)Yet Another Resource Negotiator
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Q10) Which of the following algorithms may 
cause starvation ? 
(i) First-come-first-serve
(ii) Round Robin 
(iii) Priority 
(iv) Shortest process next 
(v) Shortest remaining time first

(A) (i), (iii) and (v) (B) (iii), (iv) and (v) 
(C) (ii), (iv) and (v) (D) (ii), (iii) and (iv)



Rashmi Prabha 
CombineCS The Extra Step

Q10) Which of the following algorithms may 
cause starvation ? 
(i) First-come-first-serve
(ii) Round Robin 
(iii) Priority 
(iv) Shortest process next 
(v) Shortest remaining time first

(A) (i), (iii) and (v) (B) (iii), (iv) and (v) 
(C) (ii), (iv) and (v) (D) (ii), (iii) and (iv)



Rashmi Prabha 
CombineCS The Extra Step

👉 Follow us on Social media: 

▶ YouTube : https://www.youtube.com/c/CombineCSTheExtraStep 

👥 Facebook : https://www.facebook.com/groups/combinecs 

📸 Instagram : https://www.instagram.com/combinecs/ 

Telegram Group : https://t.me/RashmiCCS 

Telegram Channel : https://t.me/combinecs 

👉 Join our WhatsApp group for (NET/SET/GATE): 

https://chat.whatsapp.com/GruovhRvste1nL8L2X1YQ3 

👉 Join our WhatsApp group for (JOB Notifications) : 

https://chat.whatsapp.com/ExM4CZ2ZKxzEgPvSfOXNFb

👉 Join our WhatsApp group for (Training & Placements): 
https://chat.whatsapp.com/EB5umdja3BGJQijhxjEaij

For any query regarding notes, pdf, feedback, suggestions

Mail us: combinecs2020@gmail.com 

🌟 For all our latest courses launched

visit: 🌍 combinecs.com 

👨🏻‍🎓 Student Support:- team.combinecs@gmail.com ☎️ 7666980624
=========================================== 

“Effort Never Dies” 

👍 Like || Share || Comment || Subscribe 

https://chat.whatsapp.com/ExM4CZ2ZKxzEgPvSfOXNFb
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Thank you

Post your doubts in comment section.
Stay subscribed  for all updates.


